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SEHRAFERR NG R FE > FRBIFER DL EE o FERR 0.4 2 3R 5 0.5 BF
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AR RI|EE SR AR K SRR G o
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Of REAptF X RFE a3 PR - &% ok RIBRIE (24 ARIHRRIE 5 =)
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OYRENFREE 2 id XEABRRFAREETS F Ppet?
@F A X RFFR Y 97 eniff 2 258 - GL A5 8A)
[(#%] :
_ o DXy 78x 70
XY — &= & 573-
1 #%gmsxﬁz(x‘xx\(‘”:z N 10 _,
N -1 N -1 10-1
ny_ZXZY 573_78><70
2r= N - 10 - 6815

, X [y, LW 782[ _10°
[5 - EX [5ys LROT ogp 1 fe-10

O1-r*=1-.6815"=6835 &7 YRB PR E 3 d X A2 L
78x 70
ss zxy_ZXZY 573 — x

by = 2t = = 10— 6193
S, yyr_(EX) 652 (78
n 10

arn=Y —bx X =T-10.6193 x 7, 8=2.1695

CLE A fES A2 Y =, 6193X #2:1695

|+
o~
i
~
b

£ % 68.359% °

>R E ?{B%‘« b http://www. public. com. tw




